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Stream Name: Computer Science Engineering 

 

General Aptitude 

 

1. The question below consists of a pair of related words followed by four pairs of words. Select 

the pair that best expresses the relation in the original pair. Unemployed: Worker 

(A) fallow: land 

(B) unaware: sleeper 

(C) wit: jester 

(D) renovated: house  

[Ans. *] 

 

2. If the ratio of boys and girls in a class is 7:3.Then which of the values possibly the total 

number of students  

(A) 50 

(B) 21 

(C) 37 

(D) 73 

[Ans. *] 

 

3. We have two rectangular sheet paper M and N of dimension 6 cm × 1cm each sheets is rolled 

to form an open cylinder by bringing two short edges of the sheet together. Sheet N is cut into 

equal square patches and assembled to form the largest possible closed cube. Assuming the 

ends of cylinder are closed the ratio of the volume of the cylinder to that of cube is  

(A)   3/π 

(B)   9/π 

(C)   3π 

(D)   π/2 
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4. There are five bags each containing identical sets of ten distinct chocolates. One chocolate is 

picked from each bag probability that at least two chocolate are identical is ______________. 

(A) 0.6976 

(B) 0.3024 

(C) 0.4235 

(D) 0.8125 

 

5. (i) Everybody in the class is prepared for the exam. 

(ii) Baby invited Danish to his home because he enjoys playing chess 

Which is correct observation about the two  

(A) (i) is grammatically correct (ii) is unambiguous 

(B) (ii) grammatically correct (ii) ambiguous 

(C) (i) grammatically incorrect (ii) ambiguous 

(D) (i) grammatically incorrect (ii) unambiguous 

[Ans. *] 

 

6. ____________ is to surgery as writer is to ___________ 

Which of the following option maintains a similar logical relation in above sentence. 

(A) medicine, grammar 

(B) hospital, library 

(C) plan, outline 

(D) doctor, books 

 

7. A polygon is covex if, for  every pair of points, P & Q belonging to the polygon. The line 

segment PQ lies completely inside or on the polygon.  

Which one of the following is not a convex polygon? 

 
[Ans. *] 

 

8.  

Item Cost  Profit M.P 
P 5400 - 5860 
Q - 25 10000 

Static of cost of item P to cost of Q is 3: 4 discount is calculated as the difference between M.P 

& S.P. the profit percentage is calculated as the ratio of the difference between S.P and cost to 

the cost (profit % =
S.P−cost

cost
× 100) the discount on item Q, as a percentage of its marked 

price is ____________. 

(A) 12.5 

(B) 10 

(C) 25 

(D) 5 

[Ans. *] 
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Technical 

 

 

1. lim
x→−3

√2x+22      −4

x+3
 

(rounded to two decimal places) 

 

2. Given [A] = [

0 1 1 1
1 0 1 1
1 1 0 1
1 1 1 0

] 

Largest eigen value of the matrix is ____________. 

[Ans. *] 

 

3. "Digital Logic (Number System) 

Q. representation of a number in base 3 is 210. What is its hexa decimal representation?" 

[Ans. *] 

 

4. A graph g contain 8 vertices and 5 faces find the number of edges? 

[Ans. *] 

 

5. "G is group of order 6 H is subgroup of group such that 1<=|H|<=6 then which is true 

(A) Both g and h cyclic 

(B) G cyclic h not cyclic 

(C) G not cyclic h cyclic 

(D) None cyclic 

[Ans. *] 

 

6. "G is group with order 8. 

 H is subgroup of G 

1<=|H|<=6 then which is true 

(A) Both g and h cyclic 

(B) G cyclic h not cyclic 

(C) G not cyclic h cyclic 

(D) None cyclic 

 

7. Consider 3 process A, B, C all arrived at time zero, with respective burst time 10, 20, 16. The 

average waiting time with non Preemptive SJF S 

[Ans. *] 

 

More Questions will come 
 

 

 

 


